Craft Print Project No. 199

This boat makes a stable
fishing platform, and its
big cockpit makes it safe
for family boating

N opp looking craft, the Swoose

-but she’ll do up to 45 mph, is
stable as a church pew and she be-
comes practically airborne when
heading into a stiff breeze full tilt.
When planing, the Swoose rides on
only 12 sq. in. of bottom, distribut-
ed between both hulls. It’s the air
flowing through the tunnel be-.
§ tween catamaran hulls that lifts the
| Swoose almost clear of the water
and keeps water surface friction to
a minimum,

Materials for building . Swoose
are available at most lumber yards
—fir for framing, oak or yellow
pine for longitudinal structural

- members and AB grade DFPA ex-
Simple rectangular form locates frames. Sheer batten is sawed to shape of side. terior P]ywmd,

Swoose is built upside down on
a form (Figs. 1 and 2) laid over
sawhorses, Cross pieces to locate
frames are attached to the form
later along with frames. Build
frame subassemblies #2 through
#6 according to Fig. 11. Sides are
vertical and exactly 60 in. apart.

i
¥

USES: Powered adaptation of Poly-
nesian Outrigger Boat. Wide beamed, -
fast sports catamaran for use on shel-
tered waters, with outboard motors
from 5 to 25 hp. with speeds up to 45
mph. Safe due to wide beam.

LENGTH: 10 ft. Over All

BEAM: 5 ft.-12 in. Over All

DEPTH: 22-in.

WEIGHT: complete 150 Ibs.

SEATING CAPACITY: 4 persons
CONSTRUCTION: Plywood covering
framework. :
TYPE: Streamlined twin hull shape,
‘with specially designed tunnel to pro-
duce lift. _

1978 EDITION | 73



S%

No. 8 transom and frame is faced
with %-in. plywood outer skin over
the frame. Coat contacting surfaces
with Weldwood glue and nail ply-
wood to framing with 1-in. gal-
vanized or aluminum nails, spaced
at 2'in. If you prefer, use #8 x l-in,
fh screws. On frames #2 through
#5, secure chine joints with ¥ x
9%-in. rh stove bolts with washers
under heads and nuts. Secure cross
pieces to #2 and #3 frames with
#8 x 1%-in. fh screws. Temporarily
screw 1 x 2 extensions to #6 frame
‘to reach form. Other frames’ side
members extend to frame. Trim
flush with top after planking,

Lay out sides from dimensions
in Fig. 4 directly on the plywood.
Saw out one side and use it for a
pattern to saw the opposite side.
" To start assembly, mark form to
locate frames #2 through #6. Tem-
porarily screwfasten frames to 1 x
2 cross pieces; then nail these cross
pieces to form to locate frames,

which must be square with form.
Nail 1 x 2 temporary battens to
hold frames in place until final bat-
tens and chines are notched in.

Clamp. side planking in place
and check to see that all framing
lines up properly; then take the
framing apart, unscrewing frames
from form cross pieces. Notch
frames for chines and keels (Fig.
11) and notch the #2 frame for
the aft edge of the tunnel planking
forward of #2 frame.

Shape fore end of tunnel plank-
ing, using side as pattern. Return
frames to form again temporarily
and use side to mark shape of a
sheer batten ¥ x 2% in. Saw batten
to shape with a joint between
curved forward part and straight
section just aft of #3 frame (Figs.
3 and 10). Position side planking
along upright frames and mark
each frame along top sheer edge.
Remove side planking again and
notch sheer battens flush into

. frames. Glue and screwfasten sheer
batten to frames with two #8 x
1%-in. fh screws at each joint.
Screwfasten fore end tunnel pieces
to #2 frame with four #8 x 1%-in.

fh screws to each piece. Bevel the
two stem ends (Fig. 11) and
screwfasten between sheer batten
and fore end tunnel pieces with
one #10 x 2-in. fh screw at each
joint.

Fit the four chines and screw-
fasten them in their respective
positions with one #8 x 2-in. fh
screw at each joint except the fore
ends which are secured with two

" screws. Let chines extend aft of

FORWARD END PLYWOOD 15

5 FROM ¥I.'4'KIU' PLYWOOD. - EX.D.F PA — A*B GRADE

CUT TO BEND OVER CONVEX SURFACES OF PONTOONS

2"

i

SIDE PLANKS {' PLYWOOD |-RIGHT 1-LEFT

! cm-mnsfrm | RIGHT- | LEFT

56" ALLOWS FOR FITTING a

i‘; -— R —

TYPICAL SECTION
1" & PLYWOOD DECK
J1P*-coamiNg (SEE DET)— -
SIDE BEAM (SEE DET)
\"-'_;:.-iixz RH STOVE BOLT
WASHER EACH SIDE

transom about 4 in., filling chine
notch with Kuhl's Bedlast. Fit 1 x
4-in. filler between chines (Fig.
10) and screwfasten with two #8
x 1%-in. fh screws. Coat transom
liberally with Bedlast around these
pontoon extensions,

Now vou're ready to apply side
planking. First coat all contact sur-
faces with Weldwood glue, set
planks in position and screwfasten
with #8 x l-in. fh screws at 2-in.
intervals, When glue has set, trim
plywood evenly along chines and
fair framework so plywood lies
evenly at all points.

Plank the pontoon bottoms next,
coating chine joints with Bedlast
and contact surfaces on frames

£ i |
COAMING [
W H‘f 15 Fx
!;r--;‘.'.‘.‘:‘m,m S |er
Y el |
+ i
i i
e A e

(6

Yisti—oy il
|E"l\:’f?"- ||i"
|rf' s

e/
AFT SIDE DECK

1wl ——
et
(1] — l_rn
:__ CIxe" sy
SIDE COCKPIT BEAMS 4 REQ, = K

I-LEFT, 1-RIGHT

SHEER BATTEN $x 2"

FILLERS

o AR
’T_i":j-l Fi ==
P e T 2" GALY. WIRE NAILS
ty DECK CLEATS A 7 e
/! xeeL %0

1 TUNNEL KEEL & BATTS $x1f" . FLOOR §7 PLYWOOD 32X 54"
L

DECK NOTCH A

gm:lll_imf

i
X8

1X1" ANGLE FILLER STRIP




Vay! S
= b Lty - e L
: i« A ik e LY ST el

Here is framework upside down ready for the side planking.

MOTOR BOARD

.
} PLYWOOD DECK

e e

P et y

TUNNEL SIDE PLANK IS MEASURED TO FIT

E e -El"ft!“i ZE

\\E:E J NOTCH INTO THIS
4] ¥ s o _l __ POINT PARTIALLY
; TuNNEL KeEL e A 2 } : '
BATTEN (TUNKELY = |
\ 1 f‘ - %
ixanAl S CHINE” J J
A KEEL-y
,1‘
- L= FRAMES — =
g = 1 ']' -E ’/,m-mn BATTEN -|
7 o

with Weldwood glue. Split fore
ends of bottom planking (Fig. 4)
to fit curved bottom. Cut ends
form a neat joint over keel that is
later filled with glue and sawdust
mix. Screwfasten planking along
chines with #8 x l-in. fh screws
spaced at 2 in. and 3 in. along keel
except where fore end plank is cut;
use 2-in. spacing there. When glue
sets, trim edges evenly.

Plank the inner sides of the tun-
nel (Fig, 10) shaping plywood. to

fit and screwfastening in place

1978 EDITION

with #8 x 1l-in. fh screws. Coat
adjoining surfaces with Bedlast
and frames with Weldwood glue.

Tunnel keel and battens are
notched flush into transom and
tunnel nose only. At frames #3,
#4 and #5, the keel and battens
rest on frame cross pieces. Screw-
fasten keel and battens with one
#8 x 1%-in. fh screw at each joint.
Screw through plywood tunnel
sides into battens from inside pon-
toons, using #8 x l-in. fh screws
at 3-in. intervals. Planking for tun-

nel bottom is simply a sheet of ply-
wood, cut to fit the opening. Be-
fore fastening bottom planking in
place, coat adjoining surfaces with
Bedlast. Screwfasten planking to
keel and battens with #8 x 1l-in.
fh screws spaced at 2 in.

You're now ready to turn the
Swoose over, so saw frame sup-
ports loose from form. You'll need
another pair of hands to help you
turn her over and set her upright
on the sawhorses, Trim plywood
along sheer battens and fair con-

75






